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Instructions to Students :
PART A

1. Part A is compulsory
Answer All Questions

2. Answer any 6 questions from Part B

Q.No
PART B

State and prove Cauchy —Riemann equations in Cartesian form.
Answer anyé question(s)

Q.No
2 and k are constants. Fit the equation to the following set observations:
p(kg/cm?) | 0.5 1.0 2.0 2.5
v(liters) 1.62 1.00 0.62 0.52 0.46

The pressure and volume of a gas are related by the equation pvY = k , where y
3.0

1.5
0.75

120

The following table gives the results of the measurements of train resistance; V is
the velocity in miles per hour; R is the resistance in pounds per ton:
7 100

60 80
33.3 46.0

3
v |20 40
9.1 14.9 22.8

IfR is related to V by the relation R = a + bV + ¢V?2, find a, b and c.

R 5.5

Find the Coefficient of correlation between industrial production and export using

the following data and comment on the result
4 Production(in | 55 56 58 |59 |60 |60 |62
grore tons)
Exports(in 35 38 38 39 44 43 | 45
crore tons)

The regression equations of two variables x and y are x = 0.7y + 5.2,
y = 0.3x + 2.8. Find the means of variables and and the coefficient of correlation

between them.

Calculate the rank correlation coefficient from the following data showing ranks of

6 10 students in two subjects:
Maths | 3 8|9 2 |7 10 | 4 6 1 |5
Physics |5 |9 |10 |1 |8 |7 3 4 2 |6

Show that the given function is analytic and hence find the derivative of f(z) =z"

Determine the analytic function whose real part is x sinx coshy — y cosx sinhy

Marks CO PO BT/CL

8 CO1 PO1 L2
Marks CO PO BT/CL

7 CO4 PO2 L3

7 CO4 PO2 L3
7 CO4 PO2 L3
7 CO4 PO2 L3
7 CO4 PO2 L3
7 CO1 PO1 L2
7 CO1 PO1 L2
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